R#ETFAN 1XFEX EE 03

1. ROFERZMF. (SHE50F, AK1520%, B2, CH35)

(1) 41-6z=95 (2) bBz+17T=50—=z

(3) 5z +4)=23z-7) (4)  3(7z —6) = 52 — 4(5x — 3)
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2. XoFFERzMT. (S50, AK1520%, B2y, C#H35)

(1) 63 — 6x = 3z (2) Tr+53=17—-=z

(3)  T(x+8)=2(4r—7) (4) 311z —4) =17 — 4(9 — 3z)
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R#ETFAN 1XFEX EE 03

1. ROFERZMF. (SHE50F, AK1520%, B2, CH35)

Yo THEXZzM@ET, E5bhics, B Te =~ &BZXD J L. BEEFTHEATH 2.

(1) 41-6z=95

—6x = 95—141
—6xr = 54
6 _ 54
—6 —6
x = -9

(3)  5(x+4)=23z—-7)

5r+20 = 6xr—14
Sr—6r = —14-20
—x = —34
=4 _ —34
-1 -1
T = 34

© -

(2) bBx+17T=50—=

S5+x = 50-—17
6x = 33
6z _ 33
6 6

11
x = —
2

(4)  3(7z —6) = 52 — 4(5x — 3)

21z — 18 = 52 —-20x+ 12
21z +20x = 52+12+18
41z = 82
e 82
41 41
T = 2
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2. XoFFERzMT. (S50, AK1520%, B2y, C#H35)

(1) 63 —6x=23z (2) Tr+53=17—2x
—6x —3r = —63 Tr4+x = 17-53
92 = —63 8r = —36
—9z  _  —63 8 _ =36
-9 -9 8 8
2
(3)  T(x+8)=2(4r—7) (4) 311z —4) = 17— 4(9 — 3z)
Tr+56 = 8r—14 33z — 12 17— 36 + 12z
Tr—8x = —14-56 33z —12¢ = 17—36+12
—r = =70 21z 7
- _ =710 21z _ =7
-1 —1 21 21
3
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